Year 3 Spring 1 Maths Activity Mat 6

Section 1 Section 2 Section 3 Section &4
Write this multiplication Calculate: Double these numbers. Omar has 86p
statement as a division He spends 35p.
statement.

90 - = 50 9 How much does he have left?
3x4=12

30 - = 20 3

-

Section 5 Section 6 Section 7 Section 8

It is 8:30am. It takes
Yang 25 minutes to walk
to school. What time will
he arrive?

On a school trip, 24 children
are put into three groups.
How many children will
there be in each group?

Find half of these numbers:

100

40

20

A hat costs £24. It is now in a
half

price sale. How much will it cost?
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Year 3 Spring 1 Maths Activity Mat 6 - Answers

Section 1 Section 2 Section 3 Section 4
Write this multiplication Calculate: Double these numbers. Omar has 86p
statement as a division He spends 35p.
statement.
90-| 40 | =50 9 18 How much does he have left?
3x4=12
30-| 10 | =20 3 6
12:3=4 7 14 ot
12+4 =3 P
Section 5 Section 6 Section 7 Section 8
It is 8:30am. It takes On a school trip, 24 children Find half of these numbers: A hat costs £24. It is now in a
Yang 25 minutes to walk are put into three groups. half price sale. How much will it
to school. What time will How many children will 100 50 cost?
he arrive? there be in each group?
40 20
20 10
8:55
o omedm 8 £12
Five minutes to nine.
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Year 3 Spring 1 Maths Activity Mat 6

Section 1 Section 2 Section 3 Section 4
Write these multiplication Calculate: Double these numbers. Steve has £2.50.
statements  as division ) He spends 79p. How much does
statements. 180 - - 120 30 he have left?
4x 4 =16 .
7 x 8 =56 160 - =90 80
70
Section 5 Section 6 Section 7 Section 8
It is 15:15. On the Ghost Train ride, 12 Find half of these numbers: A pair of boots cost £30.
It takes Ania 23 minutes children can g? on the ride There is a third off in the sale.
at the same time. If there
to walk home from ) 300 .
are 36 children, how many How much money is taken off the
school. . : . i
times will the ride have to price?
What time will she get run to make sure they all 150
home? have a turn?
70
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Year 3 Spring 1 Maths Activity Mat 6 - Answers

Section 1 Section 2 Section 3 Section 4
Write these multiplication Calculate: Double these numbers. Steve has £2.50.
statements  as division ) He spends 79p. How much does
statements. 180 | €0 | - 120 30 60 he have left?
4x4=16
7 x8 =56 160- | 70 | =90 80 160
16 + 4 = 4
56 + 8 =17 70 140
56 +7=28 £1.71
Section 5 Section 6 Section 7 Section 8
It is 15:15. On the Ghost Train ride, 12 Find half of these numbers: A pair of boots cost £30.
It takes Ania 23 minutes children can g? on the ride There is a third off in the sale.
at the same time. If there
to walk home from ) 300 150 .
are 36 children, how many How much money is taken off the
school. . : , ;
times will the ride have to price?
What time will she get run to make sure they all 150 75
home? have a turn?
70 35
) 15:38 3 runs £10
22 minutes to four.
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Year 3 Spring 1 Maths Activity Mat 6

Section 1 Section 2 Section 3 Section 4
Use these numbers to write Calculate: Double these numbers. Jen has £4.56.
two multiplication statements — She spends £1.70
and two division statements.
1170 - =40 45 How much does she have left?
72 8 9
-70=110 650
280

Section 5 Section 6 Section 7 Section 8
It is 16:20. Eggs are packed into boxes of Find half of these numbers: A coat costs £180.

six. If there are 54 eggs, how
many boxes are needed?

It takes Samir 17
minutes to walk home.
What time will he get
there?

It is reduced by Z of the price in
1090 the sale.

How much does the coat cost
3000 now?

700
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Year 3 Spring 1 Maths Activity Mat 6 - Answers

Section 1 Section 2 Section 3 Section 4
Use these numbers to write Calculate: Double these numbers. Jen has £4.56.
two multiplication statements — She spends £1.70
and two division statements.
1170 -[1130| - 40 45 90 How much does she have left?
72 8 9
180 | — = 1300

9 x8=72

72 +8=9 280 560

72 +9 =8 £2.86
Section 5 Section 6 Section 7 Section 8
It is 16:20. Eggs are packed into boxes of Find half of these numbers: A coat costs £180.

six. If there are 54 eggs, how
many boxes are needed?

It takes Samir 17
minutes to walk home.
What time will he get
there?

It is reduced by Z of the price in
1090 545 the sale.

How much does the coat cost
3000 1500 now?

700 350

16:37
23 minutes to five.
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